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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS -

(Without Books)

Maximum Time : 1 hour Maximum Marks : 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE »
Qamer@hl cuens eflermgsmer

Read the following instructions carefully before beginning to answer the questions.

AaméaenéE eldmwellés Agm_rigb (pery SPasaim Hhleya@mIsEeneT SaIETDIE Lilg&&a|LD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
@ps sifopssdle war urdaflear arigmssaid, GwasECaspu Comeuliigar bLiem
uredlanflam euTiSeanga(@hLD <L @LD.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.
Qs edersdsrelGmer samaraflouraiiar  oigind CupesdE e  FHnbsg g
sarsrafitiuret elems@sreiiGamear SpliushHE iaind alssa e elams@srelitamen gnbe
aflenLweflGs CgTLhigemb.

This question booklet contains 40 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 minutes after which no request will be entertained.

Peaelamgsrar 40 Qarargd wms oamssmer Qsra g. elamariugnreer eloLwailses
Qgrrugd aper, eldenmgraila erawver efamas@nd G 1b GubpeTerameu ereaiLamSuLD, gCoeyd Sev

CLgstiser [/ elaméser FALLLLTDG oNRulBdreraeur erenLiensub sfuriggis Glameerayb.

damgsrefd gCsamib Gon @mudda alanssramans Qupp Gear Lgs HULRGEESGET DD
sansrefiuureriiLn Ggfelss Cauadb. @ishe Yneg 0sflelssiu@n Carflémasdr gaib ghnié
QardreriiuL_orl L.

Answers all questions. All questions carry equal marks,
smardg efaméisersEh oL welss GCaampin. jmeanss ellanT&s(@HDd SO TE wd
QamemT_enau,

[T




3.  Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet,
lamemriiugryier ufQeuaranan @Geaiclamsgraficn Cod g L&ssHD SisHEsm GpgsslItL Hdrer
ELsde erps Cauamr(ib. eflarmggrafled Couml eTangu|ib eT(LpGs sal TG,

4. The sheet before the last page of the question booklet shall be used for any rough work.
fenrsgraflen senL_& LGasHHE (e LssEHD rough work erpd) Liriée o LCWTASg 16 Qamererayib.

5 (a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any casé, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (I'or this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(@ @aGeanmp oflamedngd (A), (B), (C), (D) ear prang eleorsar Qst@ssiul(Hererg.
awranriiugnyt seundled gCsad @@ sflwrer eflenamws Cameay Qe Cauamr(Hib. RS
Guopul L efluner eflenLa6r g elamallng @@lLsTs smdammsd, Seunhled ereiefami WBas
sflureng eran smgfPraGerr, scuailaLamw flpdl @ ariL Ceudr@ib.

(b)  eeuaurdlmuGaid, g elamelnE @Cr @ elaLamwus srear CaibolsHés CeustrHib.

© eun dardneg gamss CopulL el msafld e wealssiiu’gmbsrd eualeanL
seupTensTs HsLUL [, euelarmallhe wH G U eupmaliuL m L Tg.

(d) OMR e&feng grefld @hlssiiulL sfluren el smar’s Qurmss, QLrés HUQLTEST
auprisliu@ib (g elameilhe e el L gl (GHludlL) Hlpa’ L eflar bl GG wduGemr
QUG Hamddled) ar(H&gs Qamareriu(@ib).

6.. Do not mark the answers in the Question Booklet.
eflengsiratie) eflen. senard @mIN_& gnl_mgy.

7. Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.
eflesramriLigny, ellenrggreflen orhs @y LEssMSUD, BEsCar Biwag HPssCaur sarg. Csire|
peoLQugib Curg), ellamsgraner Cotay mLsmged ) CeelCu ahsg Qada gywd denwirg.
Cairey apig bs GenenCGr eflenmasrener eT(Hég1F Camea enddsiiu (el

8. Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.
Guopsar siMejarsaiiesy gCsaubd WBplru@Cowramea Cgreurmeanubd aB&GD gam_amer /
pLeugEMEEE 2 ararrs Crfl(ib.

9. In case of doubt, EKnglish version is the final.

afernésetey bCaa0lmlaa, ophidla aigefie Gar@ssiul Hearer eflenrasCar @ midluimens.
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1.

o

4.

Data in the Population Census Report is
6&) Grouped data (B) Secondary data
w Primary data _ (D) | .Ungrouped data
WwEsaTAs s samrsbs®ly Sflsamauder Learaflaferd
A)  GOsressiulL Lareflefeunth (B)  @perLmb Hepets Lareflafleurid
©) @pse Hleavals ydraflefeurd (D) QgrgssiuLng yearafledeurn
A sample is
(A) The whole population w A portion of the population
(C) (A and (B) (D) None of the above
@@ wrdlf erenLig '
(A)  Quigs wéser Asred B) wésc Os1EAG6r B@ LGS
(©) (A wpyw (B) D) Cule 2 drer ggidloana
What is the sampling procedure for selection of  Households from
“State-District-Block-Panchayat”’? '
(A) Two stage sampling (B) Stratified sampling
m Multi stage sampling . (D) Purposive sampling
Wil b-oreut Lib—aul Lmjib—dyron depdlelmhg GObuUBsmens Csireay Gewiu wrHil sanfli
(penD ereren?
A)  @mHame wrdf (B) u@&ems il
(C)  uebleme wrH (D) Coré@enLw e
If there is an even number of values in the data set, then the median is

") The mean of the two middle values.  (B) Middle value

(C)  Average - (D) Weighted Mean
an Laeledars Qsreula wlysaier adarafsms GrimLlumLseld @mpamed, GaLHlma

3| ETTey
A) @Qwp® wHluysailer symaf B) 56 wHiy
(C) &gmaf D) Heopuflir Fyme

3 117/DM/19
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Vitals statistics deals with

‘A Births-Deaths (B) Agriculture
(C) Industries . (D) Service sector

Genmlwenwirg Lereflefeupriser

A)  Qpuy-@ouy (B) Geuenmenmenio
(€) Qgmfle D) venlggenm
6. Maternal Morality ratio-the number of maternal deaths.

ﬂ per one lakh live births

(B)  per 1000 live births

(C)  per 1000 still birth

(D)  per 1000 death

smi @y eldgib—gmniiseafern @miiL| eraenflémns

(A) gdQeurm e Qelab 2 WmLer GpsEh @bmsser
B)  gaGeunm grmullyd e ull@mLar 9DEED GRbHm &6

€)  palGane grmiyd @obsl GIDEED GRb@SEET

D)  galeaurm ermuilyb Goli s

T Complete count of the heads of people refers to

(A) Sample Reglstratmn (B) Sample survey

ﬁ Census (D) Analytical method

LDEEET S| EETOIEDITU|LD PpeLWTESE SaTsE6lsHES0 erar g

(A4)  wrdfl udey (B)  wrdf oyiey
©C) s sassBiy D)  @piajapenn

8. The lower limit is 20 and upper limit is 50. The mid-points of the class is
(A) 15.0 B) 30.0

w 35.0 : (D) 355

SpHlane MGeabame 20 erearmib, CudBlana GfNQaidma 50 eremib e drar auE b6 pH oL
A 15.0 (B) 30.0
©) 35.0 D) 35.5
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9.

10.

14,

12,

13.

‘Outcomes of an experiments are classified as

(A) logged events (B) exponential results

Q:) results Mevents

e Corsanander eflenere ser @euaumy euanslLHGs LR E eTmer
A)  ersl fapeser B) <pEEsEN (pue|sEr

©)  wpqeyser | D) Blspaysar

Non-dimensional diagrams are
(A)  square 3 (B) pie chart

M pictograms (D) graph

uUfloresTomm euayUL LD GTG:ﬁTI;IQJ
A smpd (B) eul L efleés cuanyuL_Ld

(©) 2 (meu LLEISET (D)  euenpuLLD

Lorenz curve farther from straight line indicates

(A)  Kquality of distribution M’[nequality of distribution
(C)  No distribution ' (D) _Class interval
CriiCa iy aSl(mibs) eled) 2 drer emyets aumaGar® GHLULS

(A)  ureue sblane _ B) urpeué soaHPHlne

(C)  ureueiemenio (D) YNQeicena

The shape of Pie chart is
(A) Square (B) In V-shape

(C) Rectangle MCircular

_anL—euanyLIL_SSl6 allgalld
(A)  esgpd (B) V-eugeuid

©) Qsciousid | D) alLib

Qualitative data can be measurement by

(A) Mean (B) Median
m Mode (D) Can’t be measured
- ueTEnhs Leraflelleurhisemer SjemedlL (Lpigujib.
(A)  egredl (B) @QaLflea
€  ws® | (D)  jerell apiguwims
5 - 117/DM/19
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14.  Which is for Normally Distributed Data?

m Mean = Median = Mode (B) Mean > Median > Mode
(C) Mean = Median < Mode (D) Mean > Median = Mode ®
Quidumenr Yarefelleurs LiTeued 615I?
A)  aymefl = QevBlene = 1p&@H (B) ayrefl > Qe Hlenew > s
(©) agmefl = Qevt_Blovew < 1ps@H (D) Istr,rrr&rﬂ > QenLflene = &6
15. ———is collection of one or more outcomes from an experiment.
(A)  Probability W) Event
(C) Average (D) Mode
e Censamande gearn Sbwg SsHE Cupul L afmere)se aumb HgTEly
A  fapgsey B) Hlaped
(C)  eymaf D) sl
16. Kurtosis means peakedness of curve in region which is
(A)  around mean , (B) around median
W around mode (D) all of the above
FL_enL eTaneu erangl euanTeueneTuliel 2 61U LGS '
(A)  egrefleows spol @) BEGD (B) Qenflevavamws snb §meELw
C)  wsleLé s @maEELD D) Cule Cerener @marggid

17. Absolute skewness is equal to
(A) mean + mode (B) mean + median
(C) mean—median ean — mode
appanowiner Gam L SieTaneusE Fob |
(A)  ggredl + s (B)  aprefl + @enBlena
(C)  apmef — BeoL_flenev (D)  aymafl — aps(

18.  The flatten top than normal frequency curve of bell shaped distribution in Kurtosis is
categorised as

(A)  leptokurtic (B) mega curve
ﬂ platykurite (D) mesokurtic
e aulg U Sjenadeusnr euenetauanruie QudBlame SienaGeua LFaumaeaii Sl wirs G HLUUg
A)  @eonbs e . B) Cugere cuenaray
C)  Newassen D) Quesl e
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19.

20.

21.

22.

23.

is the difference between smallest and largest observation in data set

ﬂ Range (B) Average

) Positive uniformity (D) Negative uniformity
Larafledeurs QareiiGen Wsl@uilu serelinEid BlasdHlu serelheb o arer CaumimGL
(A) ei&a (B)  aymed
(C) Goiroen Fyrenape. (D) erdiwenm Fymemensu

Distance or dispersion form central value 1s

Probability (B) Standard deviation
(C) Correlation (D) Regression
B LN HHE Aprameeid Sag AgM @) nYen
(A)  Hspsey (B) L elassd
(C) (e (D) e Le@Qgril CGurés

Standard deviation is divided by arithmetic mean and multiplied by 100 is
(A)  coefficient of mean (B) coefficient of deviation
(C)  coefficient of standard deviation Mcoefficient of variation
AL eflessdnss alHéemafund eGss) lOO.g,;&;Jéu Qu(madlanTe

(A)  anmefl brmun’ Gé Gaw (B) wrpur’ (& Qs efledsid
(C) HLelass rpur(Hé Qap (D) wrgurl (& Qe

The direction of variation of data set is the measures of

(A) = statistics skewness
(C)  process (D) dispersion
Leraflefeuns Gsr@ e wrpur (s seosmw jeredl (Heig

(A)  yereflefleurld . (B) QGarliLib
(C) penLgparp (D) é&smed

Standard deviation for population parameter is represented by

W o _ ‘ (B) @ -

© o D =
p(penog Q@ LsLeTaaISETET AL ededssamss GDULS]
(A) a B) o
<€ Q ' @ X
7 117/DM/19
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24. A straight line on which all data points fall indicates

(A) Non-linear relationship . w Linear relationship
(C)  Scatter diagram (D) Residual
710) @g;r'r@aarrr'_.qsb SimarggIL LeraflelleurhiseT ien nhg @) mUder
(A)  CprGar_bhm o ney : (B)  CrrGar_( 2 ey
(C) {ﬂgjmeb eUENTUL LD (D)  erdad

25. The numbers of variables involved in simple regression equation are
A 4 B)- 3

) 2 D) 1

eraflw o L en@sm iyl CuidEé swenum g o drer wrhesafcr oraradGens

A 4 B) 3
€ 2 @ 1,
26. If the value of any regression coefficient is zero, two variables are
(A)  Correlation w Independent
(C)  Dependent (D) Qualitative
6Thg 2 LengmLii Gurég eumasaspe)b sflure @ mibear, @morhalsdr
(A g Bpey (B)  gpamiy
(C) amiy (D)  srb srihsen

27.  The simple linear regression analysis is to find relationship between
(A)  Dispersions of data
(B)  More than two variables _
m Dependent variable ahd independent varialﬂe
(D)  Distribution of two sets of data
eraflu CriGam () e Lar@gr iyl CursgL LELLMLey sar_Houg
(A) yerefleSleur flemavaer
B) QmwridsEsse God
(C)  amiy wrfled wHQID FHETTL WrHed)
D) @ yereflefeury Lgeudser

117/DM/19 B 8



28.

29.

30.

31,

32.

If ‘¥ is fixed and unchangeable and ‘y’ varies, the correlation coefficient will be:
(A) Zero (B) Negative
Q0  Notlinear D Both (A) and (C)
‘¥ Bleewireng), LIDTSg G0, VY wIYuGLD aefld e (Hney UMEEQE(LD ETETLIS)
A)  sfwubd (B) ediwep
©) GpiGsr_pps - @  (A) wpgid (C)
The value of the coefficient of correlation r lies between
(A) —0.5and +0.5 & (B) Oandl
(C) - -1land0 - (D) -1and+1
S Hpey cuamsstspeian (r) wluy QeupdlenCu @(méE
(A) 0.5 wpmid +0.5 (B) 0 womo 1
© -1 whmb0 ' P L wppi+1
The terms regression was used by
(A) Spearman m Sir Francis Galton
(C)  Pearson (D) Newton
2 Lar QgrLiyl Gurée erenp Qeméeneals LwaTUBSEweuit
(A e QurGuwer (B) em Qprendlav sredLen
(C)  Quwreen (D) Hylen
Index numbers are in .
(A)  ratios (B) absolute value
(C) percehtagcs ‘ w all of the above
@S GL_efmaer eresTLiE
(A)  efdfgmser (B) apperwwiren HLiL|ser
(C) eNpésrBser (D) CuwlGe 2 _6rer SjenaGHID
period should be the base period for an Index number
(A)  drought (B) distant past
W normal " (D) any of the above
@GP QL s @péaTan Bjig IUL TS @[hée CouamHLo.
A)  eupl& (B) Gp@rsrasine qper
C) Queaflare - (D) Gl 2 drer Siameansgid
9 117/DM/19
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33.

34.

35.

36.

In measuring probability of any certain event, zero represents
ﬁ impossible events (B) possible events
(C)  certain eveﬁt (D) sample event
GTG'LI.GS‘IQ_I; o mfwner Hlapsdlule Bapsse sOWLD adug)
(A)  ergfluwpp Hlapeser (B)  engdlwpérer Blapeyser
(©) epdlurer flsheyser - D)  widA Bapeyser
Number of District level officers attended the Review meeting is an example of
M numerical outcome (B) non numerical outcome
(C) random outcome (D) simple outcome
omeul L BieTedlemar SI@IeIaTaar Spl1ays sal LS80 sebs QaTamg) erar g
(A)  eremenflwe efenerey (B)  erememfluieh s eflenaray
(C)  a5Csiames allenara, (D) ereflw eleneray.
77 testis
(A) parametric test M non parametric test
(C)  both (A) and (B) (D) None of the above
@& auEanuT Cargemen e ig)
(A)  uewmueTey grihg Comgamer (B)  uemuere amyrg Cargenan
© A womid (B) ’ (D)  CuwCe 2 drer ggdldame
If a coin is tossed one time then probability of occurrence of heads is

w 12 (B) 11

© 21 D) 272
@B BIETLILD (HIPEHD STl 1L L 1T6), Senavaer Slen_LiLgnarer Baspsse,
@A 12 B) 11
e 21 . (D) 2/2

117/DM/19 10



37.

33.

_ The variable in the binomial distribution is a
A)  Discrete : (B)  Not Continuous
éC) Continuous m both (A) and (B)
oI Lpauedled omdlell eremuig)
(A) Gsrréflwpmg) B) QsritEfluns Qmeang
(C) Qgmisd (D) (A) whHmyw (B)
Which Probabﬂitﬁr distribution is used in rare events-Road accidents, no of print.i'r:.g
mistakes, floods, accidental release of radiation from a nuclear reactor etc?
(A) Binomial moisson
(C)  Normal : (D) Multinomial
smene edusgseT, DFal AenpadT, Geudtend, diamie e GeuefildBn sflrelss efluggiser Gumen
<iflw fapaseils erhe Hehgssa) UTeud LwefgsiuGiEpg ?
(A) EHmILILY (B) umbges
C) Queflane (D) weveumiiy
Level of significance is
w probability of type-I error (B) probability of type-1I error

(C)  size of the test (D) power of the test

ULy smewr LD 6TeTLIg)

(A)  FPapsseilen P auans GQenp B) Hapsseiar @rerrbd aens Genip
(C) Gsngenan ienay (D) Csngemer pHOE

Level of 51gn1ﬁcance falls between

m 0 and 1 B) -1and+1

(C) Oand+l (D) all of the above
Smuicy sei UL LD @b Hlena |
(A) O wpmod 1 B) -1wpgyd+l
(C) O wpmbd+1 : D) Cule o_aTeT SiMeTSSHILD
1 I 117/DM/19
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS

(Without Books)

Maximum Time ; 1.30 hours Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
fNeaurer eflenwafl&Eb euens eSlammggmer

Read the following instructions carefully before beginning to answer the questions.

aflenmés(ehéE efeLwaflés AFTBIGD (e | SDEaa . iPle|erHamer Haleioms L g S&aLD.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

eflenLaaar @M UL [Herer cramrenilémas s G &8 eI Qetr, eflenr_gsmafler @ mdufer e erer
<2fs aamafiéma@arar efentser wSisE Gelwiiurg.

2. In case of doubt, English version is the final.

Aarmssafa ebCoadmulea yide aigeld Aar@aaiulGarer eflamssCGar Gmidluireng.

| Answer any EIGHT questions: (8 x 3 =24)
eranesCugyh el () el anréaEpsE ellanLwafl&sayb :
eaGeun( elameilnEbd 3 wdlbuarser.

1. Define primary and secondary data.

P& Hlene, GyermL_mb Fleney efleurEISZmMET QUM TWLINI&SS.

2. Write: the one dimensional diagram, two dimensional, three dimensional and

Non-dimensional.

" uflorenr, @ s ufloran, apiufiores wHmb Lfloremepp auamruLkisaflar uUwiEemar TLYSIS.
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Define :

(a) Median

(b) Harmonic mean
cuarwenm Qelis:

(=) Qe blenay iemey

(=) @ensdaymadl.

Explain the two kinds of measures of Dispersion and list out their various classifications?

@rar() euews e Sjemeausaen efleul. Si@eusafian QeuciGeum euamssmen L igwicl (.

Distinguish

(a) Symmetrical distribution and Skewness

(b) Positive skewness and Negative skewness
Canu®sss

() W&t uyeud wHmb CamL b (Fasfementy Ligee)

(=) CpMenL Camiy ugeue wppb erdlflen Cam L Ligeudd

Give a short note on Consumer Price Index?

B&TGaunt aflene @I ClLamr uHM Hmy @i sme.

What is time series? Name four components of Time series.

srsbsrLiaflas eramme eranen? sigen flejsmers samis.

Define vital statistics.

@eanplwenowrg Yearaflafeuyhiser euenguien.

Calculate the arithmetic mean of incomes

Employee 1 2 3 4 5 6 % 8

10

Per day income | 1780 | 1760 | 1690 | 1750 | 1840 | 1920 | 1100 | 1810

1050

1950

al(ponansdlen snl () syraflenwis samsd (Ha

Qsmplevmer 1 2 3 4 5 6 5 8

10

@ BeT auHLTed | 1780 | 1760 | 1690 | 1750 | 1840 | 1920 | 1100 | 1810

1050

1950

117/DM/19 2




10. An urn contains 5 red, 4 white and 3 black balls. The probability of three balls being of _
éfferent colours when the ball is replaced after each draw is equal to

e smPluded 2 arer 5 Heutiy, 4 Qeudaner, 3 sMILIL LBGISHT G@ssLILHEapaT. GeublaiTh (PeDUD
2 ubgl SO HHE QeuafGL erRés LG bCLITE @b Lbg 2-aGer CumLLILGL erany panpuse,
QeuefiCL erR&sILED 3 Upgiser GeuciCain Hpsdld QnUushaTar HlEpsse wTg?

II1. Answer any THREE questions : (83 x5=15)
arameCuiayd ppem elanmés @EhdE eflenweflGaab
geaiQeures ellemallH@b 5 wHUbluaTsar.

11. What is Pie Diagram? Draw a pie diagram for the values in percentages:
60%,25%,10%,5%

aul L eflerésliuLid eramred ereman? 60%, 25%, 10%, 5% <pdw sseis wHULSERSE L

. ellenEslILLLD euenys.

12, Explain with examples.
(a) Positive and negative Correlation
(b) Simple and Multiple Correlation
THSGISET_HaEBLan &HHEsLTs eleuMbsa b
(=) Cpirwpmib erdli g Goey

(<s4) gmgTremt OHNID LLETT U (Hney.

13.  Define the following with examples
(a) Equall_y likely events,
(b) Mutually exclusive events,
(¢) Exhaustive events,
(d) Complementary events.
Spssnanibd Blapidaman eT(HSSISHTL(HL 6 uenjum&s
(=) efsweuriitiyerer flapaflaar,
(=) qenenpGwinesm eSlv&@LD Hlapéslaar
(8) oMb g (prpenputear Flapssladr,
(/)  erdlinnenm Hlapédlaar. |

3 117/DM/19
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14. Calculate the price index using simple aggregate method.

Commodities Prices/(in Rupees) ) .
2014 2017
A 90 105
B 60 70
C 100 110
D 40 55

erafliu Qorss @oluir QL eir apenpufled @Hlui QL ar saréd (Hs

G eflevan/ e (mumudie)
2014 2017
A 90 105
B 60 70
G 100 110
D 40 55
15. Calculate the median for the following frequency distribution.
Marks 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
Students 7 15 24 31 42 30 26 15 10

eirau(mid Lyeleledmbg GenL Blaaen s samsd[hs.
wHlQuarser | 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
LD TERT U TEHET 7 15 24 31 42 30 . 26 15 10

III. Answer any THREE questions : (3 x7 =21)
erenauCign)id epeirm eflaméasEnde eflen_wafl&aa) :
geuGeurm eflarmalih@id 7 wHOGUeTEET.

16. A business man’s advertisement expenditure and profit are given below. Find Karl pearson’s
coefficient of correlation.

Advertisement (Rs. in 'lakhs) 5 Tl ! 9 15
Profit (Rs. In crores) 10 | 71 8| 16 | 20

@ aaflafler eferbugs Qewes@snd GarumseEsd &6p Aar@ssiulBearerar. sy Gwrseaien
@ Hne| aumad La(paneud &rams.

(934

eflembmid (Tl Qe s58ld) 9 [ 15
@amub (emumis Gaimgudley) 10 [ 78| 15 | 20
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18.

19.

The following table represents the marks secured by a batch of 10 students in certain class
tests in Tamil and English

Serial No. 1 2 3 4 5 | 6 7 8 9 | 10
Marks (Tamil) 70 | 60 | 65 | 80 | 85 | 90 | 95 | 65 | 75 | 95
Marks (English) | 50 | 55 | 85 | 75 | 65 | 60 | 90 | 80 | 65 | 60

oraelitsdr a@lils  Coield sOfad, Phdasdan Qupp wALAUETEET EealD
S Leumeri@a Qsr@asuul fererar. oeuisag <fleys Hpear aps uTLUUGHsE Sifswns
2 _ETaTg) CTETLISENEE &il_lg.6 STL5.

auflena erator. 1 2 3 4 5 6 7 8 9 10
HQUETEET 70 | 60 | 65 | 80 | 85 | 90 | 95 | 65 | 75 | 95
(510)

pAIQ Lisitreser 50 | 55 | 85 | 75 | 65 | 60 | 90 | 80 | 65 | 60
(<pEiflob)

Write the differences between Correlation and Regression

FLOpeysELD e-Lar Agmiml Curé@se b e atar Caunur(amar e(pgs.

The table below gives the makes obtained by 10 students in statistics. Calculate Standard

Deviation and co-efficient of variation from Assumed Mean.(Assumed Mean=55)

Students No. 1 2 3 4 5 6 71 8 9 | 10
Marks 48 | 45 | 70 | 52 | 36 | 55 | 42 | 45 | 83 | 52

usg wrewreuirsafer Lerefl@we wilQuansar §Gip o drar = L_euananudlé @Eﬁ@lésalill_l U (eere.
oarg; symeMudelmbgl S Leflassid wHmib wryUTL () umss0s(ps samTssl (He. (2ors ggmarf] = 55)
omenreuiraeflen eramrantSans 1 2 3 4 5 6 7 8 9 10

wHLQuaTseT 48 | 45 | 70 | 52 | 36 | 55 | 42 | 45 | 83 | B2

Comments on the performance of the students of three colleges given below using simple and
welghted averages. (E7.18)
Course of College A - College B College C
study Pass % | No. of student | Pass % | No. of student | Pass % | No. of stude_nt
(in hundreds) (in hundreds) (in hundreds)
M.Sec 66 | 3 60 2 73 2
B.Sc 65 4 65 3 70 4
B.Com 74 5 76 6 58 4
B.A. 73 2 65 7 74 2
M.Com 83 3 60 3 76 7
M.A. i ! 3 60 7 81 2
5 . 117/DM/19
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&6 Gar@astiulQdrer epearn - sogrilsefiar wraraursaiar srgmansErs@ eraflu al () syre
wHob BleppuillL s’ @ syrefl sar@bly sseyb. Siganls smegiaT auwhiseyb (E7.18) ‘

urCi@fey . sl A ‘ saayrfl B soarfl C
Carédl | wremeaursalan | Caiedl | wrawmarsaflar | Csréd o rewmeuitaeten

% GTeRT et Hen s % et Hen s % GraunTent Gans

(prmisefl) (prpsefld) (mrysafled)
M.Sc 66 3 60 2 73 2
B.Sc 65 4 65 3 70 4
B.Com 74 b 76 6 58 4
B.A. 73 - 65 7 74 2
M.Com 83 3 60 3 76 7
M.A. 71 3 60 i 81 2
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